

1) Ansatz: $y = a_0 + a_1(x-3) + a_2(x-3)^2 + \dots$
 ↗ 1 wegen Anfangsbedingung

Einsetzen:

$$a_1 + 2a_2(x-3) + \dots$$

$$\stackrel{!}{=} x \cdot (1 + a_1(x-3) + a_2(x-3)^2 + \dots)$$

↖ $x-3+3$

$$= (x-3) + a_1(x-3)^2 + a_2(x-3)^3 + \dots$$

$$+ 3 + 3a_1(x-3) + 3a_2(x-3)^2$$

$$\Rightarrow a_1 = 3 \wedge \underbrace{2a_2 = 1 + 3a_1}_{a_2 = 5}$$

2) Trennung der Variablen:

$$\int_1^{y_1} \frac{1}{y} dy = \int_3^{x_1} x dx$$
$$\ln |y_1| - 0 = \frac{x_1^2}{2} - \frac{9}{2}$$

$$\Rightarrow y_1 = \pm e^{\frac{x_1^2}{2} - \frac{9}{2}}$$

↑
Muss + sein
wg. Anfangsbedingung

3) $f(x) = e^{\frac{x^2}{2} - \frac{9}{2}}$ entwickeln an $x_0 = 3$:

$$f'(x) = \frac{dx}{dx} e^{\frac{x^2}{2} - \frac{9}{2}}, \quad f''(x) = e^{\frac{x^2}{2} - \frac{9}{2}} \cdot (1+x^2)$$

$$\text{Also } f(3) = e^0 = 1, \quad f'(3) = 3e^0 = 3,$$

$$f''(3) = e^0 \cdot 10 = 10. \quad \text{Nacht:}$$

$$f(x) = \underset{\vee}{1} + \underset{\vee}{3}(x-3) + \underset{\vee}{\frac{10}{2}} \frac{(x-3)^2}{2} + \dots$$